HA|IX| CHZ]| EA|1Z| X {4
=3

7
HHiE HE

Cisco Unity Connection2 E2|7{504 MWIE 7{7{L} 1= O|HIE

MWI Zei ZfS =15t 7| {8 SQL 27t /e MWI 747|/117] AILIEIR & CUCM £ T2
A|LF2|2 1:Skinny Call Control Protocol(SCCP) Phone Extension 1007 Calling MWI on Number
1999

AILI2|2 2:SCCP T3} LIM B15 1007 E3F MWI THE B35 1998

SCCP(Skinny Call Control Protocol)& £3l Unity @121 E8HEl cUCML| MWI On/Off AlLtE|28
FMEZ

>

el

Ol EMoME= MWI(HIAIR| CHZ| ZE AIZ]) ON/OFFOI| CHE 2Fd E|AE AlLt2| 201 CHEH M-t
MWI ME Z2AX 7|5 & 48 AlLtE[ol| M Edst= Mg Algo | CHa AEerL|ct. Cisco
CUCM(Unified Communications Manager)0ll MWI & & HIA|X| =2 & Informix Database(IDS)0|
HE LHE 0| MEEIRI=X| & 2l5t7| ?/8H SQL(Structuciso Database)01| MEBEIRE=X] &Hlst7| &
o Zot7t ZEELICH

HIE HE
Cisco Unity Connectiong E2|75l0{ MWIE #H7{L &= O[HIE

A& xhoi CHEt HIA|X|7} Cisco Unity Connection HIA|X| K& A0l =23 Cisco Unity
Connection2 S AL AFS| TEL 7|0l MWIE FAE 5 T35H7| A|lAg ol &2lL]Ct

- MWIE AL8RE7H HIAIRIE = 418F S0l E Hl% 74%d U&LICHHAIXI7F MEE|HLE A RIE
TRl On2 2 R K[ELICHHAXIZF FE =L A X =] Cisco Unity Connection2 T3+7|04 A
MWIE =5 T3t7| A= o L2LcH

- MWIZt S7|8tE|H Cisco Unity Connection2 HIAIX| MEAE FE|5t0{ ZE T3t 7(0f A
MWIC| HEHE EQI5tT ME 758 MWIE RIS LICEH

MWI &2 22 & Qlst7] /8t sQL 227t e Mwi 747|/1L7|
AlUE|28 cucM £ =2

AlL+2]2 1:Skinny S8} Mjo{ Z2E & (SCCP) M&} LiM HE 19999 Tg} LiM
2 1007 S8 MwI

CUCM FXoiM S EE H=E 19992 At EA:

06150176.006 |11:53:11.122 |AppInfo |Digit analysis: match(pi="2", fgcn="1007",



cn="1007",plv="5", pss="", TodFilteredPss="", dd="1999",dac="0")
06150176.007 |11:53:11.122 |AppInfo |Digit analysis: analysis results
06150176.008 |11:53:11.122 |AppInfo ||PretransformCallingPartyNumber=1007
|callingPartyNumber=1007

|DialingPartition=

|DialingPattern=1999

|FullyQualifiedCalledPartyNumber=1999
|DialingPatternRegularExpression=(1999)

dHZE Eeia 42 22 UOI0|ESHZ| I8 SQL T2 A|X7t EZELICE Ol= MWI ON EA[7|
£ olOlghct
06150194.001 |11:53:11.123 |AppInfo |DB: SQLl[execute procedure dblSetMWIEx('1007', '', 2, O,

6, 6, 0, 0o, 0, 0, 0, O, O, 0O, 0)]

Zoia zke &9olst7| {8 CUCM = CLI2| SQL #2l(tklampblinkrate_messagewaiting)

admin: run sgl select n.dnorpattern, d.tklampblinkrate_messagewaiting from numplan as
n,numplandynamic as d where n.dnorpattern = '1007' and n.pkid = d.fknumplan
dnorpattern tklampblinkrate_messagewaiting

AlL}E|2 2:SCCP T8 LM 5 1007 &3 MWI THE '3 1998

CUCM FHof|M EEEl H3E 19982 A} 24

06150336.006 |11:53:16.427 |AppInfo |Digit analysis: match(pi="2", fgcn="1007",

cn="1007",plv="5", pss="", TodFilteredPss="", dd="1998",dac="0")
06150336.007 |11:53:16.427 |AppInfo |Digit analysis: analysis results
06150336.008 |11:53:16.427 |AppInfo ||PretransformCallingPartyNumber=1007
|CcallingPartyNumber=1007

|DialingPartition=

DialingPattern=
iali 1998
|FullyQualifiedCalledPartyNumber=1998

U PIE Eca e 12 UO|o|ESHY| sl SQL Z2AIX7F EEE|H Ol MWI 17| EAIZ|E
o|O|grLct.

06150355.001 |11:53:16.428 |AppInfo |DB: SQLl[execute procedure dblSetMwIEx('1007', '', 1, O,
o, 0, o, 0, 0, O, O, O, 0, O, 0)]

admin: run sgl select n.dnorpattern, d.tklampblinkrate_messagewaiting from numplan as
n,numplandynamic as d where n.dnorpattern = '1007' and n.pkid = d.fknumplan
dnorpattern tklampblinkrate_messagewaiting

CREATE FUNCTION dblSetMWIEx ( DN LIKE NumPlan.DnOrPattern,



partition LIKE RoutePartition.pkid,
lamp LIKE NumPlanDynamic.tkLampBlinkRate_MessageWaiting,

"1007" will be the input to the DN field ,"2" or "1" will be acting as a lamp input to the
function "dblSetMWIEx"

gof MY E oE|M ZE0I NULLOI2 2 Of IF Z740| SF &1 LIYEl sQL #2|7t
NumPlanDynamic EllO|£ 2| pkid Zf & param2Z 7}X{ZLICt.numplan EO|21} LIE Z=2lg +F
8 % NPDpkid

IF (partition = '') THEN

SELECT NumPlanDynamic.pkid into NPDpkid from NumPlanDynamic INNER JOIN NumPlan ON
NumPlanDynamic.fknumplan = NumPlan.pkid
WHERE (NumPlan.dnOrPattern = '1007' AND NumPlan.fkRoutePartition IS NULL) ;

CUCM = CLIS| sQL #2| Z=t

admin:run sgl select NumPlanDynamic.pkid from NumPlanDynamic INNER JOIN NumPlan ON
NumPlanDynamic. fknumplan = NumPlan.pkid WHERE (NumPlan.dnOrPattern ='1007' AND
NumPlan. fkRoutePartition IS NULL)

pkid

Ol pkid Zt2 =0l Ho|El CHZE NPDpkid gt 2 M ELICt
SQL ZZA|X{ol HolE cHz M= Ze Zt2 AUol0|E35H7| /5l dbiSetMWIEX & =0fl M AZE
cio|E A2l

Update NumPlanDynamic set NumPlanDynamic.tkLampBlinkRate_MessageWaiting = lamp WHERE pkid =
NPDpkid;

Adcl|o|E # ElE tkLampBlinkRate_MessageWaiting &2 G| O|E & LICH.

SCCP(Skinny Call Control Protocol)& &3l Unity &1 S&r&
CUCMZ| MWI On/Off AlLIE|R& F3 =2}

1. ALIE|2 MWI

Unity2| MWI & & HIA|X|(mwiwaiting ZE127F 12 MAH)

19684211.001 |19:45:22.377 |AppInfo |StationInit: (0030551) StationMwiNotificationMessage
mwiTarget=1007 mwiCtrl=1999 msgsWaiting=1 totalVm(-1/-1) privm(-1/-1) totalFax(-1/-1) priFax (-
1/-1)

19684212.000 |19:45:22.377 |sdlsSig | StationMwiNotification
| restart0 |StationD(1,100,58,30551)
|StationInit(1l,100,57,1) |1,100,13,30598.8710.106.90.141"CiscoUM2-VI2 | [R:N-

H:0,N:0,L:0,V:0,Z:0,D:0] mwiTargetDn=1007 mwiControlDn=1999



msgsWaiting=1

19684213.000 |19:45:22.377 |sdlsig | SsInfoReq

|wait |Cc(1,100,213,1)

|StationD(1,100,58,30551) |1,100,13,30598.8"10.106.90.141"CiscoUM2-VI2 | [R:N-
H:0,N:0,L:0,V:0,Z:0,D:0] Type=0 Key=0 Node=1 Party=0 DevId=(1,58,30551) CSS=
dn=ti=1nd=1007pi=0sil FeatId=122 FeatVal=2 WhichLamps=0 LampPersis=0 Signal=0 Cause=0
clientCodeReg=F authCodeReg=F mwiOnOffDn=1999 FDataType=00pId=0ssType=0
SsKey=0invokeId=0resultExp=Fbpda=F

19684214.000 |19:45:22.377 |sdlsig | SsInfoReq

|wait | MessageWaitingManager (1,100,126,1)

|Cc(1,100,213,1) |1,100,13,30598.8710.106.90.141"CiscoUM2-VI2 | [R:N-
H:0,N:0,L:0,V:0,Z:0,D:0] Type=0 Key=0 Node=1 Party=0 DevId=(1,58,30551) CSS=
dn=ti=1nd=1007pi=0sil FeatId=122 FeatVal=2 WhichLamps=0 LampPersis=0 Signal=0 Cause=0
clientCodeReg=F authCodeReg=F mwiOnOffDn=1999 FDataType=00pId=0ssType=0
SsKey=0invokeId=0resultExp=Fbpda=F

19684214.001 |19:45:22.377 |AppInfo |MessageWaitingManager::ssInforeq mwiOnOf£fDn=1999
passedCSS= mwiDnCss=

19684214.002 |19:45:22.377 |Created |

| | MessageWaiting(1l,100,127,106960741)

| MessageWaitingManager (1,100,126,1) |

|NumOfCurrentInstances: 6489

19684214.003 |19:45:22.377 |AppInfo |MessageWaitingManager - hashChildProcess - entries in the
messageWaiting table = 0x1959

19684215.000 |19:45:22.377 |sdlsSig | SsInfoReq

|wait |MessageWaiting(1l,100,127,106960741)

| MessageWaitingManager (1,100,126,1) |1,100,13,30598.8710.106.90.141"CiscoUM2-VI2 | [R:N-
H:0,N:0,L:0,V:0,Z:0,D:0] Type=0 Key=0 Node=1 Party=22308893 DevId=(1l,58,30551) CSS=
dn=ti=1nd=1007pi=0sil FeatId=122 FeatVal=2 WhichLamps=0 LampPersis=0 Signal=0 Cause=0
clientCodeReg=F authCodeReg=F mwiOnOffDn=1999 FDataType=00pId=0ssType=0
SsKey=0invokeId=0resultExp=Fbpda=F

19684215.001 |19:45:22.378 |AppInfo |MessageWaiting::sendDaReq dialingPattern=1007
dialingPartition= voiceMailbox=1007 orig digitString=1007, cmDeviceType 0

19684215.002 |19:45:22.378 |Stopping |

| | MessageWaiting(1l,100,127,106960741)
|MessageWaiting(1l,100,127,106960741) |

|NumOfCurrentInstances: 6489

19684216.000 |19:45:22.378 |sdlsSig | DbvoiceMailUpdtReq

|initialized |Db(1,100,202,1)

| MessageWaiting(1,100,127,106960741) |1,100,13,30598.8710.106.90.141"CiscoUM2-VI2 |[T:N-
H:0,N:0,L:0,V:0,Z2:0,D:0] 02000000 00000000 00000000 00000000 00000000 00000000 00000000 00OOO0O0COO0O
00000000 00000000 00000000 00000000 4862b9%a5 00000000

SQL HH|0|E Z 2 A|XM7t AlElof = =S 22 UO|0|EFLICH

19684216.001 |19:45:22.378 |AppInfo |DB: SQLl[execute procedure dblSetMWIEx('1007', '', 2, O,
o, 0, o, 0, 0, 0, 0, O, 0, O, 0)]
19684216.002 |19:45:22.380 |AppInfo |DB: SQL2[execute procedure dblSetMWIEx('1007', '', 2, O,

6, 6, o, 0, 0, 0, O, O, O, O, 0)]

19684217.000 |19:45:22.384 |sdlsig | SsInfoRes

|restart0 |StationD(1,100,58,30551)

| MessageWaiting(1,100,127,106960741) |1,100,13,30598.8710.106.90.141"CiscoUM2-VI2 | [R:N-
H:0,N:1,L:0,V:0,Z2:0,D:0] SsType=0 SsKey=106960741 SsNode=1 SsParty=0 DevId=(0,0,0) CSS=
dn=ti=1nd=1007pi=0sil FeatId=122 FeatVal=2 WhichLamps=0 LampPersis=0 SsSignal=0 SsCause=16
19684217.001 |19:45:22.384 |AppInfo |StationD: (0030551) TX StationMwiResponse:



mwiTarget=1007 result=0.

19684218.000 |19:45:22.384 |sdlsig | MessageWaitingComplete

|wait | MessageWaitingManager (1,100,126,1)
|MessageWaiting(l,100,127,106960741) |l,lOO,13,30598.8A10.106.90.141ACiSCOUM2—VI2 |[R:N—
H:0,N:0,L:0,V:0,Z2:0,D:0]

19684218.001 |19:45:22.385 |AppInfo |MessageWaitingManager - deleteEntryFromMwiTable - entries
in the messageWaiting table = 0x1958

2. MWI 17| AlL}2|2

Unity2] MWI & &] HIA|X|(mwiwaiting Z2i27F 02 2 MHE BR)

19775953.001 |19:45:42.812 |AppInfo |StationInit: (0030549) StationMwiNotificationMessage
mwiTarget=1007 mwiCtrl=1998 msgsWaiting=0 totalVm(-1/-1) privm(-1/-1) totalFax(-1/-1) priFax (-
1/-1)

19775954.000 |19:45:42.812 |SdlsSig | StationMwiNotification
|restart0 |StationD(1,100,58,30549)
|StationInit(1l,100,57,1) |1,100,13,30597.10710.106.90.141"CiscoUM2-VI3 | [R:N-

H:0,N:0,L:0,V:0,Z:0,D:0] mwiTargetDn=1007 mwiControlDn=1998 msgsWaiting=0
19775955.000 |19:45:42.812 |SdlSig | SsInfoReq

|wait |Cc(1,100,213,1)

|StationD(l,100,58,30549) |l,100,13,30597.lOAlO.106.90.141ACiscoUM2—VI3 |[R:N—
H:0,N:0,L:0,V:0,Z:0,D:0] Type=0 Key=0 Node=1 Party=0 DevId=(1,58,30549) CSS=
dn=ti=1nd=1007pi=0sil FeatId=122 FeatVal=1 WhichLamps=0 LampPersis=0 Signal=0 Cause=0
clientCodeReg=F authCodeReqg=F mwiOnOffDn=1998 FDataType=00pId=0ssType=0
SsKey=0invokeId=0resultExp=Fbpda=F

19775956.000 |19:45:42.812 |SdlSig | SsInfoReq

|wait | MessageWaitingManager (1,100,126,1)

|Cc(l,lOO,213,l) |l,100,13,30597.lOAlO.106.90.141ACiscoUM2—VI3 |[R:N—
H:0,N:0,L:0,V:0,Z:0,D:0] Type=0 Key=0 Node=1 Party=0 DevId=(1,58,30549) CSS=
dn=ti=1nd=1007pi=0sil FeatId=122 FeatVal=1 WhichLamps=0 LampPersis=0 Signal=0 Cause=0
clientCodeReg=F authCodeReqg=F mwiOnOffDn=1998 FDataType=00pId=0ssType=0
SsKey=0invokeId=0resultExp=Fbpda=F

19775956.001 |19:45:42.812 |AppInfo |MessageWaitingManager::ssInforeq mwiOnOffDn=1998
passedCSS= mwiDnCss=

19775956.002 |19:45:42.812 |Created |

| |MessageWaiting(1l,100,127,106964522)

| MessageWaitingManager (1,100,126,1)

| NumOfCurrentInstances: 6266

19775956.003 |19:45:42.812 |AppInfo |MessageWaitingManager - hashChildProcess - entries in the
messageWaiting table = 0x187A

19775957.000 |19:45:42.812 |SdlSig | SsInfoReq

|wait |MessageWaiting(1l,100,127,106964522)

| MessageWaitingManager (1,100,126,1) |1,100,13,30597.10710.106.90.141"CiscoUM2-VI3 | [R:N-
H:0,N:0,L:0,V:0,Z:0,D:0] Type=0 Key=0 Node=1 Party=22312676 DevId=(1,58,30549) CSS=
dn=ti=1nd=1007pi=0sil FeatId=122 FeatVal=1 WhichLamps=0 LampPersis=0 Signal=0 Cause=0
clientCodeReg=F authCodeReqg=F mwiOnOffDn=1998 FDataType=00pId=0ssType=0
SsKey=0invokeId=0resultExp=Fbpda=F

19775957.001 |19:45:42.812 |AppInfo |MessageWaiting::sendDaReq dialingPattern=1007
dialingPartition= voiceMailbox=1007 orig digitString=1007, cmDeviceType 0

19775957.002 |19:45:42.812 |Stopping |

| |MessageWaiting(1l,100,127,106964522)
|MessageWaiting(l,100,127,106964522) |

| NumOfCurrentInstances: 6266

19775958.000 |19:45:42.812 |SdlSig | DbVoiceMailUpdtReq

|initialized |Db(1,100,202,1)

|MessageWaiting(1,100,127,106964522) |1,100,13,30597.10710.106.90.141"CiscoUM2-VI3 | [T:N-
H:0,N:0,L:0,V:0,Z:0,D:0] 01000000 00000000 00000000 00000000 00000000 00000000 00000000 00000000



00000000 00000000 OOaff8ac 00000000 48c057a9 00000000

SQL YH|0|E Z = A|XM7t Al M= HEE 12 HYo|o|EFLICH

19775958.001 |19:45:42.812 |AppInfo |DB: SQLl[execute procedure dblSetMWIEx('1007', '', 1, O,
o, 0, o, 0, 0, 0, 0, O, 0, O, 0)]
19775958.002 |19:45:42.820 |AppInfo |DB: SQL2[execute procedure dblSetMWIEx('1007', '', 1, O,

6, 6, 0o, 0, 0, 0, O, O, O, 0, 0)]

19775959.000 |l9:45:42.823 |SdlSig |SsInfoRes

| restart0 |StationD(1,100,58,30549)
|MessageWaiting(l,100,127,106964522) |l,lOO,13,30597.10AlO.106.90.141ACiSCOUM2—VI3 |[R:N—
H:0,N:1,L:0,V:0,Z:0,D:0] SsType=0 SsKey=106964522 SsNode=1 SsParty=0 DevId=(0,0,0) CSS=
dn=ti=1nd=1007pi=0sil FeatId=122 FeatVal=1 WhichLamps=0 LampPersis=0 SsSignal=0 SsCause=16
19775959.001 |19:45:42.823 |AppInfo |StationD: (0030549) TX StationMwiResponse:
mwiTarget=1007 result=0.

19775960.000 |19:45:42.823 |sdlSig | MessageWaitingComplete

|wait | MessageWaitingManager (1,100,126,1)
|MessageWaiting(l,100,127,106964522) |l,lOO,13,30597.10AlO.106.90.141ACiSCOUM2—VI3 |[R:N—
H:0,N:0,L:0,V:0,Z2:0,D:0]

19775960.001 |19:45:42.824 |AppInfo |MessageWaitingManager - deleteEntryFromMwiTable - entries
in the messageWaiting table = 0x1879
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